
 1. An apple costs 25¢. 
  Chet has 1 dime and 1 

nickel.
  He needs 1 more coin to 

buy the apple. 
  What coin does Chet need?

  dime    nickel

 3. A toy truck costs 40¢.
  Jamey has 2 dimes.
  How many more dimes 

does he need to buy the 
truck?

  

 5. Anne has 2 quarters, 1 
dime, 3 nickels, and 3 
pennies.

  She spends 71¢ at the store.
  What is the smallest number 

of coins she uses?

  

 2. Grace uses 1 quarter and 
1 nickel to buy a chocolate 
bar.

  How much does the 
chocolate bar cost?

  35¢  30¢

 4. A box of crayons is 10¢.
  Nancy has 8 nickels.
  How many boxes of crayons 

can she buy?

  

 6. Alberto buys a stamp for 
22¢ and a sticker for 20¢.

  He pays with 2 quarters.
  How much change should 

Alberto get back?

   ¢

Make a List
Solve.
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